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1. w0t wew affard @1 All question are compulsory.

2. uHl W IEfed oid Sqd 9@ RY TG | Marks allotted to the question are indicated against them.
3. SawyRaw ¥ i weR @ RigA @ wea w1 qufd | Please do not sign or make any visible mark

on answer sheet.
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English (Total Marks-20)
Q7 Write a letter to your uncle inviting him on your birthday (use xyz as your name) |5 marks
Q8 Solve them: 1x3=3
1) fill in the blank. marks
In both countries we have leaders of ............... ability.
A- powerful | B- almighty | C- compelling | D- exceptional
2) Choose Suitable Antonym of Outwit
A- laugh | B- defeat | C-victory | D-win
3) Choose Suitable Antonym of Alleviation
A-lessening [ B- magnification | C- intensify | D- aggravation
Q9 Choose the word which can be substituted for the given expression: 1x3=3
1) An speech made without preparation: marks
A-Impromptu | B- Improvisation | C- Unprepared | D- Extempore
2)A person or thing who exists at the same time as another:
A-Simultaneous | B- Existent | C- Recent | D- Contemporary
3)One who is always trying to escape situations:
A-Escapist B- Rescuer | C- Avoider | D- Evader
Q10 Select the most appropriate option to fill in the blank: 1x3=3
1) Please ............ us for the Annual Walk for Charity. marks
A- Join | B- do Joined | C- can join | D- joining
2) The bread ............ like rubber.
A-arctasting | B- havetested | C- taste | D- has tasted
3) The Mekong is also home ......... the world’s largest catfish.
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| A- for [ B- in [ C-to | D-within |
Q11 Choose the correct option: 1x3=3
L]} working all afternoon and have just finished the assignment. marks
A- have been | B-had been | C- shall be | D- am
2¥ 1 csinss you my last year’s books.
A-have had lend | B- shall lend | C- lends | D- lending
3) Identify the tense used in the given sentence. ‘Someone picked my pocket.’
A-Present B- Past Indefinite | C-Past Perfect D- Present
Indefinite tense Tense Tense Perfect Tense
Q12 Choose the correct option: 1x3=3
1) choose suitable synonym of Ignoramus marks
A-Deceitful | B-playful | C- stupid | D- Cautious
2) Select the sentence in the future tense.
A-I have been B- I should be  C-1will be D-1 could be
twenty-five next | twenty-five next | twenty-five next | twenty-five next
Sunday. Sunday. Sunday. Sunday.
3) Select the Incorrectly spelt word.
A- Delegate | B- Encraoch | C- Illusion | D-Obtain
HHR 9 (FeT 3iHh—30)
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[ A- 61 | B- 62 | C—63 | D- 64
How many squares-are there in the game of chess?
[A)e6] | B) 62 1 C) 63 | D) 64
U¥ 14 | 719 IR BT A 991 3T DA AT 87 2 3ic
| A- 74 | B— ammem | C— = | D- &==
Which is the largest organ of human body?
[A)liver | B) stomach C) skin | D) Heart
UE 15 | 6Yad XIS HH Bl @I fbd qy gg off? 2 3%
[ A- 1950 | B- 1947 [ C- 1945 [ D= 2020
lln which year was the United Nations established?
A) 1950 | B) 1947 [ C)1945 [ D) 2020 |
¥ 16 | 9T SiA9UTd fhw wog § Rerd 27 2 3im
[ A- Swryew | B- #fes | C— mawew | D- SsRravs |

In which state is Jog Water Fall located?

| A) Uttar Pradesh

| B) Karnataka

| C)Madhya Pradesh | D) Uttrakhand
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When is National Voters' Day celebrated?
| A) 25 January | B) 25 February | ) 8 March [D) 1 December | .
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The process of completely eliminating bacteria is called? !
[A) Dehydration | B) Freezin [ C) Pasteurization | D) Sterilization | '
e 19 | XA ® A R o o7 235
[A— o= wm | B www afl | C- oy maw | D- Afow g ]
Who is the present Education minister of India?
A) Dharmendra B) Mamta Banarjee | C)Piyush Goyal D) Nitish Kumar
Pradhan
7% 20 | NS 2120 Afedl [a¥adY 2024 B [Aoial ¥ b4 w9 &7 2 3w
[ A- $dvs | B- amgferan | C- =sieive | D- R |
Which country was the winning team of ICC T20 Women's World Cup 2024?
[ A) Ingland | B) Australia | C)Newzealand [ D) Zimbabwe |
e 21 % HElgIv § Rerd =7 235
[ A- srferm | B- gRren | C- [ D s |
In which continent is India located?
[ A) Australia | B) Asia | C)Europe | D) Africa |
o 22 AT Bl R 27 2 3w
[ A- R | B- =@ [C-= & | D- g€ |
Where is the International Court of Justice located?
[ A) Jeneva [ B) Newyork | C) The Hague | D) Dubai |
Ue 23 | OGP D HEIUD B 87 2 3w
[ A- He= R | B- fawt e [ C- w& g@wat | D- o= 3w ]
Who is the founder of Facebook?
[ A) Sunder Pichai | B) Bill Gates | ©) Mark Zukerberg | D) Jan Koum |
U 24 | Wf@HTA A (&1 oM dTe |ared dRdl QREPR 8¢ 2 3t
[ A- #f§ a5 [ B- s @@ | C- werdR @ | D- 4= == |
Highest gallantry award given in peacetime?
A) Kirti Chakra | B) Ashoka chakra | C)Mahaveer Chakra | D) Veer Chakra |
We 25 | [aldoal @) 98 URET ol BER @ (&, Jawdl MHRY 3R SUaR W &M $iad | 2 3
Fet B
[ A- srmremh [ B- =Rremsh [ C- arriah | D- swh |
The branch of medicine that focuses on the diagnosis, staging, and treatment of cancer.
[ A) Oncology | B) Neurology | C)Vierology | D) Dermetology |
U¥ 26 | ANUMAE ATEdT Y & forg 9gad SUBRY ¢ | 2 3w
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[A- dweriex [B- saiex [C- aerex [D- segrirey |

Instrument used to measure relative humidity?

[ A) Lactometer | B) Higrometer | ©) Odometer [ D) Hydrometer __| =
W 27 | U W@ 2025 bl AT I 82
[A- TR [ B- o [ C- sSermavs | D- #ates i
The venue of National Games 2025 is?
[ A) Gujrat [ B) Rajasthan [ C) Uttrakhand [ D) Kranataka |
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Q28 The average weight of 15 students in a class increase by 1.5 kg when one of the students
weighting 45 kg is replaced by a new student. What is the weight (in kg) of the new
student?
[ A) 64.5kg | B) 56kg | €) 60kg | D) 67.5kg |
TTT 29 | U3 GORT ¥ 120 S YO | A AGRIAD b A1, A1 A 15 G D1 5AE T I BT | 4 b
fofg R vde g1 @ 2 3 €| U so¥RNd SR UE | Ted 9N & f 1 3
FTeT ATl & | e ¥ A1 & A siw ura g§u?
[ A- 147 [ B— 140 C- 152 | D- 168 |
Q29 In an examination, 120 questions were asked. As there was negative marking, Reena
decides not to attempt 15 questions. Each question carries 2 marks. 80% of her answer
were correct. For a wrong answer 1 mark is deducted. How many marks were obtained
by Reena in the examination?
[ A) 147 | B) 140 | €) 152 | D) 168 |
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Q30 Two years ago a man was 6 times the age of his son. After 18 years, his age will be twice
the age of his son. their ages are respectively
[ A) 34 yrs, 9 yrs B) 32 yrs, 7yrs [C)36yrs, 11yrs [ D)38yrs, 13 yrs ]
%9 31 | 0.000216 &1 B-9cA &4 817 Y =
A- 0.6 | B- 0.006 | c- 006 | p- 0.0006 ]
Q31 What will be the cube root of 0.000216?

[ A) 0.6 | B) 0.006 [ ¢)0.06 | D) 0.0006 |
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Q32 When a number is divided by 156 it gives remainder 29 . If the same number is divided by 13 find
the remainder.
[a)3 [B)1 [c)2 | D)5 [
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